

Darboux transformation of lax pair for an integrable coupling of the integrable differential-difference equation

Xi-Xiang Xu

College of Mathematics and Systems Science, Shandong University of Science and Technology, Qingdao, 266590, China

Email address:

xu_xixiang@126.com

To cite this article:

Xi-Xiang Xu. Darboux Transformation of Lax Pair for an Integrable Coupling of the Integrable Differential-Difference Equation. *Applied and Computational Mathematics*. Vol. 3, No. 5, 2014, pp. 240-246. doi: 10.11648/j.acm.20140305.18

Abstract: An integrable coupling of the known integrable differential-difference equation and its Lax pair are presented. Based on the gauge transformation between the corresponding four-by-four matrix spectral problems, a Darboux transformation of Lax pair for the integrable coupling is established. As an application of the obtained Darboux transformation, an explicit solution is given.

Keywords: Integrable Differential-Difference Equation, Integrable Coupling, Darboux, Transformation, Explicit Solution

1. Introduction

Since the original work of Fermi, Pasta and Ulam in the 1960s [1], integrable differential-difference equations has attracted wide interest, and has been applied in many fields of Physics. Many integrable differential-difference equations have been deduced. Their integrable properties have been studied from different points of view. Such as the inverse scattering transformation [2], the symmetries and master symmetries[3], Hamiltonian structure and bi-Hamiltonian structure, [4-6], constructing complexiton solutions by the Casorati determinant[7], the symmetry constraints [8], and so forth.

Recently, the investigation of integrable coupling system of soliton equations has attracted much attention. The integrable couplings originate from the work on perturbations around solutions of evolution equations [9], and the perturbation bundle [10]. A few approaches to obtain integrable coupling systems of the integrable evolution equations are proposed. For example, perturbation methods [11-12], enlarging spectral problems [13], semi-direct sums of Lie algebras [14-17], and so on.

For a given integrable differential-difference equation

$$y_{n,t} = K_n(y_n), \tag{1}$$

In which $y_n = y(n,t)$ is a vector-valued real function defined over $Z \times R$. We actually want to derive a bigger, triangular integrable differential-difference equation as

follows:

$$\begin{pmatrix} y_n \\ z_n \end{pmatrix}_t = \begin{pmatrix} K_n(y_n) \\ \xi(y_n, z_n) \end{pmatrix} \tag{2}$$

Here z_n is a new vector-valued real function defined over $Z \times R$, and the vector-valued function $\xi(y_n, z_n)$ should satisfy the non-triviality condition $\frac{\partial \xi(y_n, z_n)}{\partial [y_n]} \neq 0$, where

$[y_n] = (y_n, y_{n+1}, y_{n-1}, \dots)$. This statement means that the other differential-difference equation in the bigger system (2) involves the dependent variables of the original equation (1). The Eq. (2) is called an integrable coupling system of Eq. (1).

In addition, Darboux transformation is a powerful tool to obtain explicit solutions of integrable differential-difference equations [18-24]. The discrete matrix spectral problem of integrable differential-difference equation plays a key role in the theory of Darboux transformation. From the associated discrete matrix spectral problem, we may construct the Darboux transformation of integrable differential-difference equations and obtain explicit solutions of integrable differential-difference equations.

In Ref [21], an integrable differential-difference equation

$$\begin{cases} r_{n,t} = r_{n+1} - r_n^2 s_n, \\ s_{n,t} = r_n s_n^2 - s_{n-1}, \end{cases} \tag{3}$$

and its integrate family are derived from a matrix spectral

problem. Hamiltonian structure of this integrable family is established by the discrete trace identity. Its related Darboux transformation is discussed. If we set the equation (3) in following form

$$y_{n,t} = K_n(y_n),$$

where $y_n = (r_n, s_n)^T$, then a first-order perturbation system of equations (3) may be represented as

$$\begin{pmatrix} y_n \\ z_n \end{pmatrix}_t = \begin{pmatrix} K_n(y_n) \\ K_n'(y_n)[z_n] \end{pmatrix} \quad (4)$$

In which $z_n = (u_n, w_n)^T$, $K_n'(y_n)[z_n]$ denotes the Gateaux derivative of $K_n(y_n)$ with respect to y_n in a direction z_n . It is easy to obtain that the above first-order perturbation system (4) of the equations (3) become

$$\begin{cases} r_{n,t} = r_{n+1} - r_n^2 s_n, \\ s_{n,t} = r_n s_n^2 - s_{n-1}, \\ u_{n,t} = -r_{n+1} + u_{n+1} + r_n^2 s_{n-1} + r_n^2 w_{n-1} + 2r_n s_{n-1} u_n, \\ w_{n,t} = s_{n-1} - w_{n-1} - r_{n+1}^2 s_n + s_n^2 u_{n-1} + 2r_{n-1} s_n w_n. \end{cases} \quad (5)$$

Because first two equations in the Eq.(5) form the Eq.(3), the Eq.(5) is an integrable coupling of the integrable differential-difference equation (3). Here, let $f(n)$ be a lattice

$$v_n = \begin{pmatrix} \frac{\lambda}{2} - r_n s_{n-1} & \lambda r_n & \frac{\lambda}{2} - r_n s_{n-1} - r_n w_{n-1} - s_{n-1} u_n & -r_n \lambda + u_n \lambda \\ s_{n-1} & -\frac{\lambda}{2} + r_n s_{n-1} & -s_{n-1} + w_{n-1} & -\frac{\lambda}{2} + r_n s_{n-1} + r_n w_{n-1} + s_{n-1} u_n \\ 0 & 0 & \frac{\lambda}{2} - r_n s_{n-1} & \lambda r_n \\ 0 & 0 & s_{n-1} & -\frac{\lambda}{2} + r_n s_{n-1} \end{pmatrix} \quad (7)$$

Namely, the compatibility conditions of the Eq. (6) and Eq. (7) is

$$U_{n,t} = (EV_n)U_n - U_n V_n. \quad (8)$$

and the Eq. (8) yields the Eq. (5).

This paper is organized as follows. In section 2, by means of the gauge transformation of the Lax pair, we construct a Darboux transformation of Lax pair of the Eq.(5). To the best of our knowledge, Darboux transformation of Lax pair of this triangular integrable coupling has not been studied. In Section 3, as an application of Darboux transformation, an explicit solution of the Eq. (5) is deduced. Some conclusions and remarks are given in the final Section.

2. Darboux Transformation

It is well known that Darboux transformations provide us

function, the shift operator E , the inverse of E are defined by

$$E(f(n)) = f(n+1), \quad E^{-1}(f(n)) = f(n-1), \quad n \in Z.$$

By a direct calculation, we can obtain that the integrable coupling (5) has following Lax pair

$$E\phi_n = U_n \phi_n = \begin{pmatrix} \lambda & \lambda r_n & 0 & \lambda u_n \\ s_n & 1 + r_n s_n & w_n & r_n w_n + s_n u_n \\ 0 & 0 & \lambda & \lambda r_n \\ 0 & 0 & s_n & 1 + r_n s_n \end{pmatrix} \phi_n, \quad (6)$$

$$\mathcal{X}_n = \begin{pmatrix} r_n \\ s_n \\ u_n \\ w_n \end{pmatrix}, \quad \phi_n = \begin{pmatrix} \phi_n^1 \\ \phi_n^2 \\ \phi_n^3 \\ \phi_n^4 \end{pmatrix}$$

and

$$\phi_{n,t} = V_n \phi_n,$$

in which

with a purely algebraic, powerful method to find explicit solutions of some integrable differential-difference equations (or discrete integrable systems). A matrix spectral problem of an integrable differential-difference equation plays a key role [19-24]. we know that a gauge transformation of matrix spectral problems is called a Darboux transformation if it transforms the spectral problem into another spectral problem of the same type. In what follows, we are going to establish a Darboux transformation of the integrable differential-difference equation (5). In theory of Darboux transformation, a key problem is that the transformation matrix is properly presented. We introduce gauge transformation

$$\tilde{\varphi}_n = \Pi_n^{(N)} \varphi_n \quad (9)$$

Here, we assume $\Pi_n^{(N)}$ is of the form

$$\begin{pmatrix} \lambda^N + \sum_{i=0}^{N-1} a_n^{(i)} \lambda^i & \sum_{i=0}^{N-1} b_n^{(i)} \lambda^{i+1} & \lambda^N + \sum_{i=0}^{N-1} f_n^{(i)} \lambda^i & \sum_{i=0}^{N-1} g_n^{(i)} \lambda^{i+1} \\ \sum_{i=0}^{N-1} c_n^{(i)} \lambda^i & \lambda^N + \sum_{i=0}^{N-1} d_n^{(i)} \lambda^i & \sum_{i=0}^{N-1} h_n^{(i)} \lambda^i & \lambda^N + \sum_{i=0}^{N-1} l_n^{(i)} \lambda^i \\ 0 & 0 & \lambda^N + \sum_{i=0}^{N-1} a_n^{(i)} \lambda^i & \sum_{i=0}^{N-1} b_n^{(i)} \lambda^{i+1} \\ 0 & 0 & \sum_{i=0}^{N-1} c_n^{(i)} \lambda^i & \lambda^N + \sum_{i=0}^{N-1} d_n^{(i)} \lambda^i \end{pmatrix} \quad (10)$$

in which N is a natural number, $a_n^{(i)}, b_n^{(i)}, c_n^{(i)}, d_n^{(i)}, f_n^{(i)}, g_n^{(i)}, h_n^{(i)}, l_n^{(i)}, i=1, \dots, N-1$, are undetermined functions of variables n and t . The Eq. (9) can transform two spectral problems (7) and (8) into

$$E \tilde{\phi}_n = \tilde{\phi}_{n+1} = \tilde{U}_n \tilde{\phi}_n. \quad (11)$$

$$\tilde{\varphi}_{n,t} = \tilde{V}_n \tilde{\varphi}_n. \quad (12)$$

$$\tilde{U}_n = \Pi_{n+1}^{(N)} U_n (\Pi_n^{(N)})^{-1}, \tilde{V}_n = (\Pi_n^{(N)})_t + \Pi_n^{(N)} V_n (\Pi_n^{(N)})^{-1}. \quad (13)$$

In what follows, we determine $\Pi_n^{(N)}$ such that \tilde{U}_n and \tilde{V}_n in Eq. (13) have the same form with U_n and V_n in Eq. (6)

$$\sum_{i=0}^{N-1} (a_n^{(i)} + \alpha_j[n] b_n^{(i)} \lambda_j + \beta_j[n] f_n^{(i)} + \gamma_j[n] g_n^{(i)} \lambda_j) \lambda_j^i = -(1 + \beta_j[n]) \lambda_j^N, 1 \leq j \leq 2N. \quad (14)$$

$$\sum_{i=0}^{N-1} (c_n^{(i)} + \alpha_j[n] d_n^{(i)} \lambda_j + \beta_j[n] f_n^{(i)} + \gamma_j[n] h_n^{(i)} \lambda_j) \lambda_j^i = -(\alpha_j[n] + \gamma_j[n]) \lambda_j^N, 1 \leq j \leq 2N. \quad (15)$$

$$\sum_{i=0}^{N-1} (\beta_j[n] a_n^{(i)} + \gamma_j[n] b_n^{(i)} \lambda_j) \lambda_j^i = -\beta_j[n] \lambda_j^N, 1 \leq j \leq 2N. \quad (16)$$

$$\sum_{i=0}^{N-1} (\beta_j[n] c_n^{(i)} + \gamma_j[n] d_n^{(i)} \lambda_j) \lambda_j^i = -\gamma_j[n] \lambda_j^N, 1 \leq j \leq 2N. \quad (17)$$

In which

$$\begin{cases} \alpha_j[n] = \frac{\phi_n^2(t, \lambda_j) - \kappa_j \psi_n^2(t, \lambda_j)}{\phi_n^1(t, \lambda_j) - \kappa_j \psi_n^1(t, \lambda_j)}, \\ \beta_j[n] = \frac{\phi_n^3(t, \lambda_j) - \kappa_j \psi_n^3(t, \lambda_j)}{\phi_n^1(t, \lambda_j) - \kappa_j \psi_n^1(t, \lambda_j)}, \\ \gamma_j[n] = \frac{\phi_n^4(t, \lambda_j) - \kappa_j \psi_n^4(t, \lambda_j)}{\phi_n^1(t, \lambda_j) - \kappa_j \psi_n^1(t, \lambda_j)}, \end{cases} \quad j=1,2,3, \dots, 2N. \quad (18)$$

$\lambda_j, \kappa_j, j=1,2,3, \dots, 2N$, are suitably chosen such that all the determinants of coefficients for

Eq.(14) ~ Eq.(18) are nonzero. Therefore, $a_n^{(i)}, b_n^{(i)}, c_n^{(i)}, d_n^{(i)}, f_n^{(i)}, g_n^{(i)}, h_n^{(i)}, l_n^{(i)}, i=1,2, 3, \dots, N-1$, are uniquely determined. From Eq.(14) ~ Eq.(17), it is easy to get that $\det(\Pi_n^{(N)})$

is $4N$ th-order polynomial of $\lambda_j, j=1,2, \dots, 2N$, are all its roots.

$$a_n = \lambda^N + \sum_{i=0}^{N-1} a_n^{(i)} \lambda^i, b_n = \sum_{i=0}^{N-1} b_n^{(i)} \lambda^{i+1}, c_n = \sum_{i=0}^{N-1} c_n^{(i)} \lambda^i, d_n = \lambda^N + \sum_{i=0}^{N-1} d_n^{(i)} \lambda^i,$$

and Eq. (7) respectively. Let

$$\begin{aligned} \phi_n &= (\phi_n^1(t, \lambda), \phi_n^2(t, \lambda), \phi_n^3(t, \lambda), \phi_n^4(t, \lambda))^T, \\ \psi_n &= (\psi_n^1(t, \lambda), \psi_n^2(t, \lambda), \psi_n^4(t, \lambda))^T \end{aligned}$$

two real linear independent solutions of Eq. (7) and Eq. (8), and use them to define following

linear algebraic systems for $a_n^{(i)}, b_n^{(i)}, c_n^{(i)}, d_n^{(i)}, f_n^{(i)}, g_n^{(i)}, h_n^{(i)}$ and $l_n^{(i)}, i=1,2,3, N-1$.

Thus, we have

$$\det(\Pi_n^{(N)}) = \prod_{j=1}^{2N} (\lambda - \lambda_j)^2. \quad (19)$$

Proposition 1. The matrix \tilde{U}_n defined by Eq. (13) has the same form as U_n , in which the old potentials r_n, s_n, u_n and w_n are mapped into new potentials $\tilde{r}_n, \tilde{s}_n, \tilde{u}_n$ and \tilde{w}_n according to

$$\begin{cases} \tilde{r}_n = r_n - b_n^{(N-1)}, \\ \tilde{s}_n = s_n + c_{n+1}^{(N-1)}, \\ \tilde{u}_n = u_n + b_n^{(N-1)} - g_n^{(N-1)}, \\ \tilde{w}_n = w_n - c_{n+1}^{(N-1)} + h_{n+1}^{(N-1)}. \end{cases} \quad (20)$$

Proof: Let

$$f_n = \lambda^N + \sum_{i=0}^{N-1} f_n^{(i)} \lambda^i, g_n = \sum_{i=0}^{N-1} g_n^{(i)} \lambda^{i+1}, h_n = \sum_{i=0}^{N-1} h_n^{(i)} \lambda^i, l_n = \lambda^N + \sum_{i=0}^{N-1} l_n^{(i)} \lambda^i.$$

It is easy to obtain

$$\Pi_{n+1}^{(N)} U_n (\Pi_n^{(N)})^* = \begin{pmatrix} \Gamma_{11}(\lambda, n) & \Gamma_{12}(\lambda, n) & \Gamma_{13}(\lambda, n) & \Gamma_{14}(\lambda, n) \\ \Gamma_{21}(\lambda, n) & \Gamma_{22}(\lambda, n) & \Gamma_{23}(\lambda, n) & \Gamma_{24}(\lambda, n) \\ 0 & 0 & \Gamma_{11}(\lambda, n) & \Gamma_{12}(\lambda, n) \\ 0 & 0 & \Gamma_{21}(\lambda, n) & \Gamma_{22}(\lambda, n) \end{pmatrix} \quad (21)$$

We can find that $\Gamma_{11}(\lambda, n), \Gamma_{12}(\lambda, n), \Gamma_{13}(\lambda, n)$ and $\Gamma_{14}(\lambda, n)$ are $(4N+1)$ order polynomials in λ , $\Gamma_{21}(\lambda, n), \Gamma_{22}(\lambda, n), \Gamma_{23}(\lambda, n)$ and $\Gamma_{24}(\lambda, n)$ are $4N$ order polynomials in λ . Furthermore, from Eq. (6) and Eq. (7), we get

$$\alpha_j[n+1] = \frac{\mu_j(n)}{v_j(n)}, \beta_j[n+1] = \frac{\sigma_j(n)}{v_j(n)}, \gamma_j[n+1] = \frac{\omega_j(n)}{v_j(n)}, \quad j = 1, 2, \dots, 2N, \quad (22)$$

With

$$\begin{cases} \mu_j(n) = s_n + (1 + r_n s_n) \alpha_j[n] + w_n \beta_j[n] + (s_n u_n + r_n w_n) \gamma_j[n], \\ v_j(n) = \lambda_j + r_n \lambda_j \alpha_j[n] + u_n \lambda_j \gamma_j[n], \\ \sigma_j(n) = \lambda_j \beta_j[n] + r_n \lambda_j \gamma_j[n], \\ \omega_j(n) = s_n \beta_j[n] + (1 + r_n s_n) \gamma_j[n]. \end{cases} \quad j = 1, 2, \dots, 2N. \quad (23)$$

According to Eq. (22) and Eq. (23), we can get the expressions of $a_{n+1}, b_{n+1}, c_{n+1}, d_{n+1}, f_{n+1}, g_{n+1}, h_{n+1}, l_{n+1}$. Making use of Eq.(14) ~ Eq.(18), through a tedious but direct calculation, we can obtain

$$\Gamma_{ij}(\lambda_k, n) = 0, i = 1, 2, j = 1, 2, 3, 4, k = 1, 2, \dots, 2N.$$

Therefore, we have

$$\Pi_{n+1}^{(N)} U_n (\Pi_n^{(N)})^* = \det(\Pi_n^{(N)}) M_n,$$

$$M_n = \begin{pmatrix} m_{11}^{(1)} \lambda + m_{11}^{(0)} & m_{12}^{(1)} \lambda + m_{12}^{(0)} & m_{13}^{(1)} \lambda + m_{13}^{(0)} & m_{14}^{(1)} \lambda + m_{14}^{(0)} \\ m_{21}^{(0)} & m_{22}^{(0)} & m_{23}^{(0)} & m_{24}^{(0)} \\ 0 & 0 & m_{11}^{(1)} \lambda + m_{11}^{(0)} & m_{12}^{(1)} \lambda + m_{12}^{(0)} \\ 0 & 0 & m_{21}^{(0)} & m_{22}^{(0)} \end{pmatrix}$$

Where $m_{11}^{(1)}, m_{12}^{(1)}, m_{13}^{(1)}, m_{14}^{(1)}$ and $m_{ij}^{(1)}, i = 1, 2, j = 1, 2, 3, 4,$ are all independent λ . Hence we get

$$\Pi_{n+1}^{(N)} U_n = M_n \Pi_n^{(N)}. \quad (24)$$

with

Equating the coefficients of $\lambda^{N+i}, i = 1, 2,$ in Eq. (24). we have

$$\begin{aligned} m_{11}^{(1)} &= 1, m_{11}^{(0)} = 0, m_{12}^{(1)} = r_n - b_n^{(N-1)} = \tilde{r}_n, m_{12}^{(0)} = 0, m_{13}^{(1)} = 0, m_{13}^{(0)} = 0, m_{14}^{(1)} = u_n + b_n^{(N-1)} - g_n^{(N-1)}, \\ m_{14}^{(0)} &= 0, m_{21}^{(0)} = s_n + c_{n+1}^{(N-1)} = \tilde{s}_n, m_{22}^{(0)} = 1 + (r_n - b_n^{(N-1)})(s_n + c_{n+1}^{(N-1)}) = 1 + \tilde{r}_n \tilde{s}_n, m_{23}^{(0)} = w_n - c_{n+1}^{(N-1)} \\ h_{n+1}^{(N-1)} &= \tilde{w}_n, m_{24}^{(0)} = (r_n - b_n^{(N-1)})(w_n - c_{n+1}^{(N-1)} + h_{n+1}^{(N-1)}) + (s_n^{(N-1)} + c_{n+1}^{(N-1)})(u_n + b_n^{(N-1)} - f_n^{(N-1)}) = \tilde{r}_n \tilde{w}_n + \tilde{s}_n \tilde{u}_n. \end{aligned}$$

The proof is completed.

Proposition 2. The matrix \tilde{V}_n defined by (13) has the same form as V_n in Eq. (7) under the transformation (20), i.e,

$$\tilde{V}_n =$$

$$\begin{pmatrix} \frac{\lambda}{2} - \tilde{r}_n \tilde{s}_{n-1} & \lambda \tilde{r}_n & \frac{\lambda}{2} - \tilde{r}_n \tilde{s}_{n-1} - \tilde{r}_n \tilde{w}_{n-1} - \tilde{s}_{n-1} \tilde{u}_n & -\tilde{r}_n \lambda + \tilde{u}_n \lambda \\ \tilde{s}_{n-1} & -\frac{\lambda}{2} + \tilde{r}_n \tilde{s}_{n-1} & -\tilde{s}_{n-1} + \tilde{w}_{n-1} & -\frac{\lambda}{2} + \tilde{r}_n \tilde{s}_{n-1} + \tilde{r}_n \tilde{w}_{n-1} + \tilde{s}_{n-1} \tilde{u}_n \\ 0 & 0 & \frac{\lambda}{2} - \tilde{r}_n \tilde{s}_{n-1} & \lambda \tilde{r}_n \\ 0 & 0 & \tilde{s}_{n-1} & -\frac{\lambda}{2} + \tilde{r}_n \tilde{s}_{n-1} \end{pmatrix} \quad (25)$$

Proof: Let

$$(\Pi_n^{(N)})_t + \Pi_n^{(N)} V_n (\Pi_n^{(N)})^* = \begin{pmatrix} \Sigma_{11}(\lambda, n) & \Sigma_{12}(\lambda, n) & \Sigma_{13}(\lambda, n) & \Sigma_{14}(\lambda, n) \\ \Sigma_{21}(\lambda, n) & \Sigma_{22}(\lambda, n) & \Sigma_{23}(\lambda, n) & \Sigma_{24}(\lambda, n) \\ 0 & 0 & \Sigma_{11}(\lambda, n) & \Sigma_{12}(\lambda, n) \\ 0 & 0 & \Sigma_{21}(\lambda, n) & \Sigma_{22}(\lambda, n) \end{pmatrix}.$$

We may get that $\Sigma_{11}(\lambda, n), \Sigma_{12}(\lambda, n), \Sigma_{13}(\lambda, n), \Sigma_{14}(\lambda, n), \Sigma_{24}(\lambda, n)$ and $\Gamma_{24}(\lambda, n)$ are $(4N+1)$ order polynomials in λ , $\Sigma_{21}(\lambda, n)$ and $\Gamma_{23}(\lambda, n)$ are $4N$ order polynomials in λ . Due to Eq.(14)~Eq.(18), by a detailed analysis, we can get

$$\Sigma_{ij}(\lambda_k, n) = 0, \quad i = 1, 2, j = 1, 2, 3, 4, k = 1, 2, \dots, 2N,$$

and the following equation is established

$$((\Pi_n^{(N)})_t + \Pi_n^{(N)} V_n (\Pi_n^{(N)})^*) = \det(\Pi_n^{(N)}) Q_n. \quad (27)$$

$$q_{11}^{(1)} = \frac{1}{2}, q_{11}^{(0)} = -(r_n - b_n^{(N-1)})(s_{n-1} + c_n^{(N-1)}) = -\tilde{r}_n \tilde{s}_{n-1}, q_{12}^{(1)} = r_n - b_n^{(N-1)} = \tilde{r}_n, q_{12}^{(0)} = 0,$$

$$q_{13}^{(1)} = -\frac{1}{2}, q_{13}^{(0)} = (r_n - b_n^{(N-1)})(s_{n-1} - c_n^{(N-1)}) - (r_n - b_n^{(N-1)})(w_{n-1} - c_n^{(N-1)} + h_n^{(N-1)}) - (s_{n-1} + c_n^{(N-1)})(u_n + b_n^{(N-1)} - g_n^{(N-1)}) = \tilde{r}_n \tilde{s}_{n-1} - \tilde{r}_n \tilde{w}_{n-1} - \tilde{s}_{n-1} \tilde{u}_n, q_{14}^{(1)} = -(r_n - b_n^{(N-1)}) + (u_n + b_n^{(N-1)} - g_n^{(N-1)}) = -\tilde{r}_n + \tilde{u}_n, q_{14}^{(0)} = 0, q_{21}^{(0)} = s_{n-1} + c_n^{(N-1)} = \tilde{s}_{n-1}, q_{22}^{(1)} = -\frac{\lambda}{2}, q_{22}^{(0)} = (r_n - b_n^{(N-1)})(s_{n-1} + c_n^{(N-1)}) = \tilde{r}_n \tilde{s}_{n-1}, q_{23}^{(0)} = -(s_{n-1} + c_n^{(N-1)}) + (w_{n-1} - c_n^{(N-1)} + h_n^{(N-1)}) = -\tilde{s}_{n-1} + \tilde{w}_{n-1}, q_{24}^{(1)} = \frac{1}{2}, q_{24}^{(0)} = -(r_n - b_n^{(N-1)})(s_{n-1} - c_n^{(N-1)}) + (r_n - b_n^{(N-1)})(w_{n-1} - c_n^{(N-1)} + h_n^{(N-1)}) + (s_{n-1} + c_n^{(N-1)})(u_n + b_n^{(N-1)} - g_n^{(N-1)}) = -\tilde{r}_n \tilde{s}_{n-1} + \tilde{r}_n \tilde{w}_{n-1} + \tilde{s}_{n-1} \tilde{u}_n.$$

The proof is completed.

Hence we conclude that the transformation (9) and (13) can change the Lax pair (6) and (7) into another Lax pair with same form. As usual, the gauge transformations (9) and (20):

$$(\varphi_n; r_n, s_n, u_n, w_n) \rightarrow (\tilde{\varphi}_n; \tilde{r}_n, \tilde{s}_n, \tilde{u}_n, \tilde{w}_n). \quad (29)$$

is a Darboux transformation of the Eq. (6) and Eq. (7), and Eq. (20) is so-called a *Bäcklund* transformation (BT) between new solution $(\tilde{\varphi}_n; \tilde{r}_n, \tilde{s}_n, \tilde{u}_n, \tilde{w}_n)^T$ and old solution $(\varphi_n; r_n, s_n, u_n, w_n)^T$. In conclusion, according to the propositions 1 and 2, we have the following

Theorem 1. Each solution $(\varphi_n; r_n, s_n, u_n, w_n)^T$ of the Eq. (5) is mapped into its a new solution $(\tilde{\varphi}_n; \tilde{r}_n, \tilde{s}_n, \tilde{u}_n, \tilde{w}_n)^T$ under the transformation (20), where $b_n^{(N-1)}, c_n^{(N-1)}, g_n^{(N-1)}, h_n^{(N-1)}$ are given by Eq(14) ~ Eq.(17).

Remark 1. Because the highest order polynomial in elements of matrix $\Pi_n^{(N)}$ is N order polynomial, Darboux

Here

$$Q_n = \begin{pmatrix} q_{11}^{(1)} \lambda + q_{11}^{(0)} & q_{12}^{(1)} \lambda + q_{12}^{(0)} & q_{13}^{(1)} \lambda + q_{13}^{(0)} & q_{14}^{(1)} \lambda + q_{14}^{(0)} \\ q_{21}^{(0)} & q_{22}^{(1)} \lambda + q_{22}^{(0)} & q_{23}^{(0)} & q_{14}^{(1)} \lambda + q_{24}^{(0)} \\ 0 & 0 & q_{11}^{(1)} \lambda + q_{11}^{(0)} & q_{12}^{(1)} \lambda + q_{12}^{(0)} \\ 0 & 0 & q_{21}^{(0)} & q_{22}^{(1)} \lambda + q_{22}^{(0)} \end{pmatrix},$$

in which $q_{11}^{(1)}, q_{12}^{(1)}, q_{13}^{(1)}, q_{14}^{(1)}, q_{22}^{(1)}, q_{24}^{(1)}, q_{ij}^{(0)}, i = 1, 2, j = 1, 2, 3, 4$, are all independent of λ .

From Eq. (27), we obtain

$$((\Pi_n^{(N)})_t + \Pi_n^{(N)} V_n (\Pi_n^{(N)})^*) = Q_n \cdot \Pi_n^{(N)}. \quad (28)$$

Comparing the coefficients of λ in Eq. (28), we have

transformation (29) is also called N -fold Darboux transformation [19], $\Pi_n^{(N)}$ is also known as a matrix of N -fold Darboux transformation.

3. Application of Darboux Transformation

In this section, we will apply Darboux transformation (29) to find an explicit solution of Eq. (5). First, we chose a seed solution (i.e., the simple special solution) $(\varphi_n; r_n, s_n, u_n, w_n)^T = (0, 0, e^t, e^{-t})^T$ of Eq. (5), and consider 1-fold Darboux transformation of Eq. (6) and Eq. (7), namely when $N = 1$. Substituting this solution into the Eq. (6) and Eq. (7), we can obtain the following Lax pair

$$E\phi_n = \begin{pmatrix} \lambda & 0 & 0 & \lambda e^t \\ 0 & 1 & e^{-t} & 0 \\ 0 & 0 & \lambda & 0 \\ 0 & 0 & 0 & 1 \end{pmatrix} \phi_n, \quad \phi_{n,t} = \begin{pmatrix} \frac{\lambda}{2} & 0 & -\frac{\lambda}{2} & \lambda e^t \\ 0 & -\frac{\lambda}{2} & e^{-t} & \frac{\lambda}{2} \\ 0 & 0 & \frac{\lambda}{2} & 0 \\ 0 & 0 & 0 & \frac{\lambda}{2} \end{pmatrix} \phi_n \quad (30)$$

Solving above two equations, we have

$$\phi_n = \begin{pmatrix} \left(\frac{\lambda \exp(-(\lambda-1)t) - \frac{t}{2} \lambda^{n+1}}{1-\lambda} \exp(\frac{\lambda t}{2})\right) \\ \left(\frac{\lambda t}{2} + \frac{\lambda^n \exp((\lambda-1)t)}{\lambda-1}\right) \exp(-\frac{\lambda t}{2}) \\ \lambda^n \exp(\frac{\lambda t}{2}) \\ \exp(-\frac{\lambda t}{2}) \end{pmatrix}, \quad \psi_n = \begin{pmatrix} \left(\frac{\lambda \exp(-(\lambda-1)t) - \frac{t}{2} \lambda^{n+1}}{\lambda-1} \exp(\frac{\lambda t}{2})\right) \\ \left(-\frac{\lambda t}{2} + \frac{\lambda^n \exp((\lambda-1)t)}{\lambda-1}\right) \exp(-\frac{\lambda t}{2}) \\ \lambda^n \exp(\frac{\lambda t}{2}) \\ -\exp(-\frac{\lambda t}{2}) \end{pmatrix}$$

$$\alpha_j[n] = \frac{(\lambda_j \exp(-\frac{\lambda_j t}{2})(1+\kappa_j) + (\frac{\lambda_j^n \exp(-(\lambda_j-1)t)}{\lambda_j-1}(1-\kappa_j)) \exp(-\lambda_j t))}{(\frac{\lambda_j \exp(-(\lambda_j-1)t)}{1-\lambda_j}(1+\kappa_j) - \frac{t}{2} \lambda_j^{n+1}(1-\kappa_j))}, \quad i=1,2.$$

$$\beta_j[n] = \frac{\lambda_j^n(1-\kappa_j) \exp(\frac{\lambda_j t}{2})}{(\frac{\lambda_j \exp(-(\lambda_j-1)t)}{1-\lambda_j}(1+\kappa_j) - \frac{t}{2} \lambda_j^{n+1}(1-\kappa_j)) \exp(\frac{\lambda_j t}{2})}, \quad i=1,2.$$

$$\alpha_j[n] = \frac{\exp(-\frac{\lambda_j t}{2})(1+\kappa_j)}{(\frac{\lambda_j \exp(-(\lambda_j-1)t)}{1-\lambda_j}(1+\kappa_j) - \frac{t}{2} \lambda_j^{n+1}(1-\kappa_j)) \exp(\frac{\lambda_j t}{2})}, \quad i=1,2.$$

Finally, by means of $\alpha_j[n], \beta_j[n], \gamma_j[n], j=1,2,$ and transformation (20), we obtain a 1-fold solution of Eq. (5):

$$\tilde{r}_n = -b_n^{(0)} = \frac{(\lambda_1 - \lambda_2) \beta_1[n] \beta_2[n]}{\lambda_1 \beta_2[n] \gamma_1[n] - \lambda_2 \beta_1[n] \gamma_2[n]}, \quad \tilde{s}_n = c_{n+1}^{(0)} = \frac{(\lambda_1 - \lambda_2) \gamma_1[n+1] \gamma_2[n+1]}{\beta_2[n+1] \gamma_1[n+1] - \beta_1[n+1] \gamma_2[n+1]},$$

$$\tilde{u}_n = e^t + b_n^{(0)} - g_n^{(0)} = e^t - \frac{(\lambda_1 - \lambda_2) \beta_1[n] \beta_2[n]}{\lambda_1 \beta_2[n] \gamma_1[n] - \lambda_2 \beta_1[n] \gamma_2[n]} + \frac{-1}{(\lambda_1 \beta_2[n] \gamma_1[n] - \lambda_2 \beta_1[n] \gamma_2[n])^2} \times$$

$$(\lambda_1^2 \alpha_1[n] \beta_1[n] (\beta_2[n])^2 - (\beta_2[n])^2 \gamma_1[n] \lambda_1^2 - \beta_1[n] (\beta_2[n])^2 \gamma_1[n] \lambda_1^2 - \alpha_2[n] (\beta_1[n])^2 \beta_2[n] \lambda_1 \lambda_2 - \alpha_1[n] \beta_1[n] (\beta_2[n])^2 \lambda_1 \lambda_2 + (\beta_2[n])^2 \gamma_1[n] \lambda_1 \lambda_2 + \beta_1[n] (\beta_2[n])^2 \gamma_1[n] \lambda_1 \lambda_2 + (\beta_1[n])^2 \gamma_2[n] \lambda_1 \lambda_2 + (\beta_1[n])^2 \beta_2[n] \gamma_2[n] \lambda_1 \lambda_2 + \alpha_2[n] (\beta_1[n])^2 \beta_2[n] \lambda_2^2 - (\beta_1[n])^2 \gamma_2[n] \lambda_2^2 - (\beta_1[n])^2 \beta_2[n] \gamma_2[n] \lambda_2^2).$$

$$\tilde{w}_n = e^{-t} - c_{n+1}^{(0)} + h_{n+1}^{(0)} = e^{-t} - \frac{(\lambda_1 - \lambda_2) \gamma_1[n+1] \gamma_2[n+1]}{\beta_2[n+1] \gamma_1[n+1] - \beta_1[n+1] \gamma_2[n+1]} + \frac{(\lambda_1 - \lambda_2)}{(\beta_2[n+1] \gamma_1[n+1] - \beta_1[n+1] \gamma_2[n+1])^2} \times (\alpha_2[n+1] \beta_2[n+1] (\gamma_1[n+1])^2 - (\gamma_1[n+1])^2 \gamma_2[n+1] + \beta_2[n+1] (\gamma_1[n+1])^2 \gamma_2[n+1] - \alpha_1[n+1] \beta_1[n+1] (\gamma_2[n+1])^2 \lambda_1 + \gamma_1[n+1] (\gamma_2[n+1])^2 - \beta_1[n+1] \gamma_1[n+1] (\gamma_2[n+1])^2).$$

Starting from the obtained explicit solution, we apply the Darboux transformation (29) once again, and then other new solution of Eq. (5) is obtained. This process can be done continually. Therefore, we can obtain a lot of explicit solutions for the differential-difference equation (5).

4. Conclusions and Remarks

In this paper, we have introduced an integrable coupling of the known differential-difference equation, and presented its Lax pair. With the help of a gauge transformation of the corresponding Lax pairs, a N-fold Darboux transformation of Lax for the triangular integrable coupling has been established. As an application an explicit solution is given by the obtained Darboux transformation.

Furthermore, we may also research other interesting integrability problems for the obtained integrable coupling, for instance, the inverse scattering transformation, constructing complexiton solutions by the Casorati determinant, and so on.

In addition, it should be noted that the construction method of Darboux transformations of the integrable couplings of the continuous integrable systems is similar our method in Section 2, the corresponding Darboux transformations of the

integrable couplings of the continuous integrable systems will be researched in our future work.

References

- [1] E.Fermi, J.Pasta and S.Ulam, Collected Papers of Enrico Fermi II. University of Chicago Press, Chicago 1965.
- [2] M.Ablowitz and J.Ladik, Nonlinear differential-difference equation, J.Math.Phys. Vol.16, 1975, pp598-603.
- [3] W.Oevel, H.Zhang and B.Fuchssteiner, Mastersymmetries and multi-Hamiltonian formulations for some integrable lattice systems, Prog.Theor. Phys. Vol.81, 1989, pp294-308.
- [4] G.Z.Tu, A trace identity and its applications to the theory of discrete integrable systems. J.phys.A:Math.Gen. Vol. 23, 1990, pp3903-3922.
- [5] W.X.Ma, A discrete variational identity on semi-direct sums of Lie algebras, J.phys.A: Math.Theor. Vol.40, 2007, pp15055-69.
- [6] X.X.Xu, An integrable coupling family of the Toda lattice systems, its bi-Hamiltonian structure and a related nonisospectral integrable lattice family, J.Math.Phys. Vol.51, 2010, pp033522-18.

- [7] W. X. Ma and K. Maruno, Complexiton solutions of the Toda lattice equation, *Physica A*. Vol.343, 2004, pp219-37.
- [8] W.X.Ma and X.G.Geng, Bäcklund transformations of soliton systems from symmetry constraints, in CRM Proceedings and Lecture Notes. Vol.29, 2001, pp313-323.
- [9] K.M.Tamizhmani and M.Lakshmana, Complete integrability of the Kortweg-de Vries equation under perturbation around its solution: Lie-Backlund symmetry approach, *J. Phys.A.Math.Gen.* Vol.16, 1983, pp3773-82.
- [10] B.Fuchssteiner, In Applications of Analytic and Geometric Methods to Nonlinear
- [11] Differential Equations, edited by P. A. Clarkson (Kluwer, Dordrecht) 1993.
- [12] W.X.Ma and B.Fuchssteiner, Integrable theory of the perturbation equations, *Chaos. Solitons. & Fractals*. Vol. 7, 1996, pp1227-1250.
- [13] W.X.Ma, Integrable couplings of soliton equations by perturbations I. A general theory and application to the KdV hierarchy, *Meth. Appl. Anal.* Vol.7, 2000, pp21-56.
- [14] W.X.Ma, Enlarging spectral problems to construct integrable couplings of soliton equations, *Phys.Lett.A*. Vol.16, 2003, pp72-76.
- [15] W.X.Ma, X.X.Xu and Y.F.Zhang, Semi-direct sums of Lie algebras and continuous integrable couplings, *Phys.Lett.A*. Vol. 351, 2006, pp125-130.
- [16] W.X.Ma, X.X.Xu and Y.F.Zhang, Semidirect sums of Lie algebras and discrete integrable couplings, *J.Math.Phys.* Vol. 47, 2006, pp053501-16.
- [17] X.X.Xu, A hierarchy of Liouville integrable discrete Hamiltonian equations, *Phys. Lett. A*. Vol.372, 2008, pp3683-3693.
- [18] V.Matveev and M.Salle, Darboux Transform and Solitons (Berlin: Springer) 1991.
- [19] G.Neugebauer and R.Meinel, General N-soliton solution of the AKNS class on arbitrary background, *Phys.Lett.A*. Vol.100, 1984, pp467-470.
- [20] C.H.Gu, H.S.Hu and Z.X.Zhou, Darboux Transform in Soliton Theory and Its
- [21] Geometric Applications, (Shanghai Scientific & Technical Publishers) 1999. H.Y.Ding, X.X.Xu and X.D.Zhao, A hierarchy of lattice soliton equations and its Darboux transformation, *Chin.Phys.* Vol.3, 2004, pp125-131.
- [22] Y.T.Wu and X.G.Geng, A new hierarchy of integrable differential-difference equations and Darboux transformation, *J.Phys.A.Math.Gen.* Vol. 31, 1998, ppL677-L684.
- [23] X.X.Xu, H.X.Yang and Y.P.Sun, Darboux transformation of the modified Toda lattice equation, *Mod.Phys.Lett.B*. Vol. 20, 2006, pp641-648.
- [24] X.X.Xu, Darboux transformation of a coupled lattice soliton equation, *Phys.Lett.A*. Vol.362, 2007, pp205-211.